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1. (a) State: We wish to test : p =0.11versus H,: p <0.11, where p = the true proportion of
nonconforming items. We will use a significance level of a = 0.05. Plan: The procedure is a one-sample -
z-test for a proportion. Conditions: Random: A random sample of items was taken. /0%: We must
assume that the trial run consisted of at least (10)(300) =3000 items. Large counts: Assuming

Hy: p=0.11is true, np =(300)-(0.11)=33 =10, and n(1- p) = (300)-(0.89) = 267 = 10.

16 0.0533-0.11

Do: p= 300 =0.0533,s0 z= =-3.14; P-value = 0.0008. Conclude: A P-value of

0.0008 is less than o = 0.05, so we reject H,, and conclude that there is convincing evidence that the
true proportion of nonconforming items is less than 0.11. (b) If H: p = 0.11is true, there is a

probability of 0.0008 of getting a sample proportion of nonconforming items as far or farther below
0.11 as 0.05333 is. 2. (a) Power = 0.69 measures the probability of correctly rejecting the null
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Quiz 9.3A
1. (a) State: We wish to test H: =13 versus H, : > 1.3, where w = mean copper level in all possible

water samples from the new source, in mg/liter. We are using a significance level of o = 0.05. Plan: The
procedure is a one-sample f-test for a mean. Conditions: Random: We will have to assume that the 30
water samples can be viewed as an SRS of water from the source. (Since the population of all water
samples is essentially infinite, we are not concerned about the 10% condition). Normal/Large sample:
n=30 is large enough as long as there are no outliers in the sample. We are told there are no outliers, so it
1.36-13
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0.0391 is less than a = 0.05, so we reject H,, and conclude that there is convincing evidence that the
1.355-1.3

new water source contains unsafe levels of copper. (b) If ¥ =1.355,then 7 = oI - 1.6736;

V30
df =29; P-value = 0.0525, and we would fail to reject H,. This points out that it may not be wise to attach
to much importance to statistical significance, since a small change in mean copper level can change our
statistical conclusion. 2. Statistically significant means that the mean amount of vitamin C in a sample was far

seems safe to proceed. Do: = =1.8257: df = 29; P-value = 0.0391. Conclude: A P-value of




